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{MATHS-A)

The least value of 2sin’d + Jeos™d is
{A) 1 (B) 2 () 3 Dy 5
If fix)= cos % + sec’x, its value always is
(a)  fixi=l B) fix)=1 {Cy  1=<fix}=<2 (D) fix)}=2
The value of cos 10" —sin 10" jg
{A) Positive {B) Negative (Cy 0 o 1
i
The value of .,.:|41|L il ﬁr}mt[i— B)is
4 4
A} - By 0 ) 1 (D) =
IF tan ¢ = bl then J2tD 4 22 is equal 1o
a-b Ya+h
(A 25iny (B) Zecosx (C) 2onsx (D) 2sinx
;sﬁn 2x Jms 2x Jsin Ix oo 2x
The equation cosx+sinx=2 has
(A) Only one solution (B) Two solutions
(C) No solution (D) Infinite number of solutions
If sinSx+sin3x-+sin x=0, the value of x other than 0, lving in the interval [0, #/2] is
(A) w6 By w12 Cy '3 (D) =4

The value of sin 'x+cos "%, (|xl<1) is

iy il B) = € w2 D) -2

If A and B are the points (—3, 4) and (2, 1), then the coordinates of the point Con AB
produced such that AC=2BC are

(A)  (2,4) (B) (3,7) <y (7.-2) Oy (-1/2,572)
The steaight lines x+y=0, 3x+v=4 and x+3y=4 form a triangle which s

(A) lsosceles (B) Equilateral

(C) Right angled (D} Mone of these

The equation of the circle passing through (4, 5) having centre at (2, 2) is

(A) x4y edx+dy-5=0 (B)  xi+yi-dx-dy-5=0

(C) " +y'-4x=13 (D) x4y -dx-dy+5=0

The area of circle centred at {1, 2) and passing through (4, 6) is

(A) 5= (B] 10m (€} 12x (D) 25m

It the two circles (x-1FHy-37=F and x*+y’-8x+2y+8=0 intersect in two distinct points, then
(A) 2<r<8 B) r2 € 8 @) 2
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It 8 be the angle between the vectors { + | and [« & then 0 is

(Ay 0O (B) =4 €y =2 D =3
The vectors A =3/ -k wnd B = | + 2 j are adjucent sides of a parallelogram. Iis area is
(A) .'.l_*r B) i3 © 5 o 7

- 2 2
The points with position vectors 107 + 35,127 5] and  ai + 11 jare collinear if a cquals
(A) -B (B) 4 (C) 8 M 12

The volume of a parallelepiped whose sides are given by (4 =15—3}.ﬁ =i+ -k,
OC =3 -k is

(A) 4 (B) 4 © 2 D) 1
13 7

The value of 9" =" 29" « _ jg

(A) 9 (B) 1 € 3 D)

If the harmonic mean between two positive numbers is to their geometric mean as 12 : 13, then the
numbers are in the ratio
(Ay 12:13 (B 1 1 ) +92 D) 1.

1213 4
In an anthmetic progression, the sum of terms equidistant from the beginning and end is equal
o

=

(A}  First term (B) Second term

(C)  Sum of first and last lerm {D) Last term
Tl_}i.-ih{:mmcsfagmumrin progression whose second term 15 2 and sum to infinity is §
:"t} 6 (B) 3 <y 4 D) 1

The number of quadratic equations which are unchanged by squaring their roots is

(A) 1 (B) 2 €y 4 Dy 6

If one root of the equation x*+px+12=0 is 4 while the equation x” +px+q=0 has equal roots, the
value of q is

(A) 49 (B) 49 (C) 49 > 4
4 2
If i and P are the roots of 4x* +3x+7=0 then the value of .t. + J-:_i is
£F
(Ay -3 (B -3 (C) 3 () I
4 T T 4

The points 2;, 7z, Z3. z4 in the complex plane are the veriices of a parallelogram taken in orde
if and only if

(A) 2t =2tz (B)y ztey=eta

(C) nrm=zrta (D) ztzrresta~0

12)
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For any complex number z, the minimum value of jz + [z 1]is
(A) 1 B 0O <y 12 (D) 32

1z
If the imagmnary part of f—-Lll i -2, then the locus of the point representing 2 in the complex
z+
plane is
(A]  Acircle (B) A straight line (C) A pambola (D) Anellipse
Sum of coefficients in the expansion of [xﬂm‘,l"" is
(A) 210 m 3" [y 4" oy 1
x50 =ag vax+mx. +.. + ook then ag+ 8 + Ry + .. + B equals
(A) 3+ (B) 3 € 1-3 O L..1
2 2 2
x+l  w aw’
If w is cube root of unity, then aroot of the equation | @ x+@ 1 |=0is

&

o | X+
(A} x=] (B) x=mw ) x=a D x=0

If every element of & determinant of third order with value A is multiplied by 3, then the value
of the newly formed determinant is

(A) A B 34 (C) 9A M 27A
If loggs(x — 1) < logaee{x — 1) then x lies in the interval
{A) (L) B) (—=2) ) (1,2) ™ (0.1}

Everyone in a room shakes hands with everybody else, The total number of handshakes is 646.
The total number of persons in the room is

(Ay 11 By 12 {Cy 13 Dy 14

A five-digit number divisible by 3 is to be formed using the numerals 0, 1, 2, 3, 4, 5 without
repetition. The total number of ways this can be done is

(A) 216 B 240 (Cy 600 (D) 3125
If 7 points out of 12 are in the same straight line, then the mumber of tiangles formed is
(A) 19 (B} 185 (Cy 201 (D) 220
. 2eosx—1
L B
(A) 1 B) 1 © 1 D 1
2 2 22
sinjx] [x]=0 . _
If fiz)=4 lx . where [x] denotes the greatest integer less than or equal to x, then
0, [.1:1= i
i eqals
Ay 1 B) 0 {C)y -l (D) Does nol exists

(3)
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Let y=sin"i—3-t—]whmn-:x-: Land 0 <y < w2 then Z% i equal to
X

(Al 2 (B) 2x © 1 By —x

1+ 14x° 1+x* I+ x°
The derivative of f{ln x) where fix)=In x is
(A) e (B] In x () ! (D) xinx

Inx " x xinx

The tangent of the curve y = 2x"x+1 is parallel to the line y = 3x+9 at the point
(A (3.9 B) (2,-1) € &) (o (1,2
The normal to a given curve is parallel 1o x—axis if
(A) ﬁ___u (H) $=] (€l ﬁzﬂ () £=|

de e dy dy
The point on the curve y* = x, the tangent at which it makes an angle of /8 with x—axis i
(A) (1/2,14) (B) (1/2,1/2) iy {2.4) D) (174, /D)
fix) = (3-x)e™ -4xe* -x has
(A} Maximaatx=10 (B) Minimaatx =0
(C)  Neither maxima nor minima at x=0 (D} Is not differentiable at x=0
The maxinvam value of L"—'T is

X
(A) 1 (B) 2fe () e (B2 e
The area common to the curves y* = x and %% = y is
(A) 1 B) 23 13 (D) 2
J-sm I-I-IJ:'-DE-.': equal
| +x5in 2x

(A) sinx B) x (C) cosx (D) tanx
The area cut off by the pamabola y* = 4ax, (s> 0) and its latus rectum is
f‘ﬁ"l} En: {E]‘ Ea] {":.} Edj {Di ﬂ"!

3 3 i
I tan * xely equals
(A) w4 (B} 144 Cy 1-=/4 Dy 0 |
je‘ sine” dr equals
(A} cose' (B) -cose* {C)  (cose™y” I sine'
Let A be a square matrix of odd order which is anti-symmetric. Then trace of A equals I
(A) 0 ®) 1 |
(C)  Number of rows in the matrix (M -1 |

(4)
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Which of these is not an elementary row operation on matrices

{A) Multiplving a row by a non-zero {B) Adding a multiple of a row 10 another
constant row

(C) Adding a constant to each term of (D} Imerchange of rows
1t TOW

The differential equation &' %h]_v =x'y is

(A) Separable and not linear {B) Lincar and not separable

() Both sepamble and linear (D) Neither separable nor lincar

An integrating factor fix) is found for the linear differential equation (1 +x*}% + 31 = Oand

the equation is rewritten as i{f{;}y} = 0. Which of the following options is carrect”

W pxy=e™ ®  jy=viee
(C)  Hx)=1+x (D)) It is not possible to find such

2 function f({x)
What are the chances that no two bays are sitting together for a8 photograph if there are 5 girls
and 2 bays:
(A) 121 (B) 47 8 (D 57

In & drawer there are four white socks, three blue socks and five grey socks. Two socks are
picked at rndom. What is the probability that both the socks are of same colowr?

(A) 411 B 1 (Cy 233 (D) 1966
What is the probability of having 53 Thursdays in a non-leap year?
(A) 57 By 17 (C) 17365 (D) 537363
If A and B are sets and ALJE = A Bthen
(A) A=¢ (B) B=¢ ) A=B (D) None of these
Wi(x): X =Y and A, B < X, then [{ANB) is equal to
(A)  fA)-f(B) (B) RA)FB)
(C) A subset of fA)HB) (D) AB}-A)
Which of the following is a valid objective function for a linear programming problem?
(A} Maximize Sxy (B) Linearize x*+5y°
(C) Maximize Sx+6y (D) Maximize xy(x-y)
Which of the following relations is a function’!
(A)  10,0)(1,2),(2,3)) (B) {0000, (0, 1), (1,2)}
(C)  {(3.1),(4,1)(3,2)} (D) {00 (1, 2), (1, 3))
X-X-X

()



